
SAP ABAP table TIVORRSOBJTYPE {Reservation Object Type}

TIVORRSOBJTYPE

MANDT [CLNT (3)]

RSOBJTYPE [CHAR (2)]

DEFROLEOCCUPANT [CHAR (6)]

DEFROLERSRESPONS [CHAR (6)]

RRTYPE [CHAR (2)]

VARNR [CHAR (6)]

TB003

CLIENT [CLNT (3)]

ROLE [CHAR (6)]

 TIVORRSOBJTYPE-DEFROLEOCCUPANT = TB003-ROLE 
0..N

1  TIVORRSOBJTYPE-DEFROLERSRESPONS = TB003-ROLE 0..N

1
TBZ3

CLIENT [CLNT (3)]

OBJAP [CHAR (4)]

VARNR [CHAR (6)]

 TIVORRSOBJTYPE-VARNR = TBZ3-VARNR 

0..N
0..N

TIVORRRTYPE

MANDT [CLNT (3)]

RRTYPE [CHAR (2)]

 TIVORRSOBJTYPE-RRTYPE = TIVORRRTYPE-RRTYPE 

0..N

0..N


